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reg_asym_sam2_diff_bpm4eY_slope vs run
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reg_asym_sam3_diff_bpm4eY_slope vs run
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reg_asym_sam4_diff bpm1X_ slope vs run
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reg_asym_samd4_diff_bpm4eX_slope vs run
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reg_asym_samd4_diff_bpm12X_ slope vs run
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reg_asym_sam5_diff bpm1X_ slope vs run
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X2 / ndf 48.65/ 81

pO 17.23 + 0.9457

1+ Entries 82
Mean 91.72
Std Dev 55.22

30

25

20

15

10

Std Dev  0.752

5,,,l,,,|,H,m...|.H|...|mlm

-8 -6 -4 -2 0 2 4 6 8



reg_asym_samb_diff_bpm4eY_slope vs run

X2 / ndf 240.4 /81

B pO 33.2 + 1.419 _ pulliD
120 % ------------------------------------------------------------------------------------------ sl -
A : Entries 82
100 :_%% """""""""""""""""""""""""""""""""""""""""""""""""" : Mean -0.2387
B sk
80__ .............................................................................................. : Std Dev  1.426
B 30}
B[ eeeee
PiTo]C SRR LU YRR N R O S U % PRI, JRSPIS SO % ¢ 4 U« T R T 25|
T NG e e
20f— L% SIS 21k vl M, cethan il I
: 20_—
O e S B b L
B 5L
et ok bl b B F bk _
T T T T T T T T T pull 10-_
N 2.3 Entries 82 o
Mean 173.4 -
i std Dev 139.7 L
6 5_
4 i
2 0'||||||||||||||||||||||||||||_|||ﬂ|

-8 -6 -4 -2 0 2 4 6 8




15

0.5

-05 =

reg_asym_sam5_diff_bpm12X_slope vs run

- X2 / ndf 70.3/81
E pOo -1.13 £ 0.04467
i 1' .................................................................................

d iw ot S ) P
e R GGG

. pull
Entries 82
] Mean 186.4
1454

pulllD

30

251

20

15

10

A s

Entries 82

Mean -0.1264

Std Dev 0.9172

111 |I-|II|III|III

-8

-6

-4

-2

0

2 4 6 8



reg_asym_sam6_diff bpm1X_ slope vs run
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